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Name: Date:

Math 9 Honours: Section 4.2 Binomial Expansions:

1. Expand the following expressions using Pascal’s Triangle
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f) (\/5 - l). (Expand and find the exact value without a calculator)
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2. Expand the Ag expression and indicate what the constant term is:
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3. Suppose that the number “x” satisfies the equation: 5 = x +x '. What is the value of x* +x*?
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4, There are inEegers “a" and “b” such that: (I +\/5]
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=a+ bﬁ . What is the value of “a”?
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5. Given the expression: (x + ar)i , what are the values of “a” and “x” if the third term of the expression is equal
to 4320 and the fifth term is equal to 3840.

6. Given the expression: (a - b]4 , what are the values of
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and “b” if the third term of the expression is equal
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7. If the first term of the expansion [a + b) is equal to 512 and the last term is 5832, then what is thé value o 7
the expression?
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8. |If the sum of the coefficients of (a - b)" is equal to 128, how many terms are in the expansion?
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9. If (x+3) —(x+2)" = Ax’ + Bx* + (x* + Dx* + Ex+ F . Whatis the value of 4+ B+C+D+E+F?

10. The 4" term of (;c—O.S)" is —15x7. What is the value of “n"?

10C - % (ot

CosS Cosy FosN Qu,ri’

n

— sy /
.;, ‘\Af—-lb!

11. The 7*" term of (Zx— ])" is 112x%. What is the value of “n"?

12. Determine “b” such that (x—b)m has the term —18?5,:’
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13. (ﬁ—lf—(z

\/?_a+2)‘=,4+8\/F, What is the value of 4+ B+C?
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14. Solve for all the possible value(s) of “x” Q:
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15. Solve for all the possible value(s) of “x”
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16. TI;@L{T@ of (3 + 2.()(] __,f]" =ax’ _L0_1-+3 Find the values of “a” and “n”
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17. Challenge: Find?he coefficient
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